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/N ZDFHM - support

« REIANRWIZ ETHIED L
R/ —FEDoDEHARWIIER/ — E~DEEHA/NEZ L

leaf root

vs(p) = e/4 + d/3 + c¢c/2 + b/l

ZA: w -rate(A;)  w(Aj): / — FAJOEHB DEH
j=1 rate(Aj): / — RAJjOEZE DI &
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(a) = max(3/2,25/12,11/6) + 1
= 37/12

val(a) = max(vs(p) ) + w(A0) - rate(A0)
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/XA DEH : set-support
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e set 7 L @ support £V £55L»
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/XX DFHA - set-support

cset DEZDNKZEWVWIEFER/ — FADEE A /NT W
e set 22 L @ support £V £ 550
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/ — KO : set-support

cset DERDARKEZWVWIEFTER/ — F~NDEZH/NZ W
e set 7 L @ support £V £55L»

(3) b DEHMEEDE

val(b) = average(5/4,3/2)+1 -1/2
=2
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LT w()/2: where
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/ — KO : set-support

cset DERDARKEZWVWIEFTER/ — F~NDEZH/NZ W
e set 7 L @ support £V £55L»
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val(c) = average(2) +1 - 3/2
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03 = 2 ®—>® val(Ap) = ma:r(Vl, .. ,VN) + w(Ap) - rate(Ap)
oG T where
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V' = averagepep.vs(p) (1 <t < N).



/XA DEH : set-support

cset DERDARKEZWVWIEFTER/ — F~NDEZH/NZ W
e set 22 L @ support £V £ 550

___________

B (5) a DFHTEEDEHE

val(a) = average(2,7/2) +1 -1

—() — 15/4

C val(Ag) = maz(VY,...,VN) + w(Ap) - rate(Ao)
777 | where
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cset DEZDNKZEWVWIEFER/ — FADEE A /NT W
e set 22 L @ support £V £ 550
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max(2+1/2,1+1/2) +1=7/2 > average( %+2, %+1)+1=3
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R/ — FOFFMESTE
val(E) = ( va(pl) + val(p2) ) +w(e) = (-1/3+0) +1=2/3



R/ — FOFHMEETE

val(D) = max(p3,p4) - w(d) =max(1/3,1)-1=0
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val(A) = -0/2+1-1+1=1
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